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Car A and car B start moving simultaneously in the same
darecnon along the line joining them. Car A moves with a constant acceleration
a =4 mls?, while car B moves with a constant velocity v=1m/s. At time t =0,

car A is 10 m behind car B. Find the time when car A overtakes car B.



Car A has an acceleration of 2 mls* due east and car B, 4 m/s*
due north. What is the acceleration of car B with respect to car A?
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Two ships A and B are 10 km apart on a line running south to
north Ship A farther north is streammg west at 20 km/h and ship B is
streaming north at 20 km/h. What is their distance-of closest-approach and
how long do they take to reach it?
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A projectile is fired horizontally
with velocity of 98 m/s from the top of a hill
490 m high. Find
(@) the time taken by the projectile to reach the
ground, Cio s10)
b) the distance of the point where the particle hits the

u=98m/s

ground from foot of the hill and
the velocity with which the projectile hits the

(
\}J ground. (g = 9.8 m/s?)
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A body is whirled in a horizontal circle of radius 20 cm. It has angular velocity of 10 rad/s.
What is its linear velocity at any point on circular path

(a) 10 m/s ‘9{{) 2m/s

(c) 20m/s

(d) V2 m/s

Two particles of mass M and m are moving in a circle of radii R and r. If their time-periods
are same, what will be the ratio of their linear velocities

(a) MR : mr

(b)M: m \K{R:r (d)1:1
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The linear acceleration of a car is 10m/s?. If the wheels of the car have a diameter of 1

the angular acceleration of the wheels will be

(a) 10 rad/sec? \,(zt{) 20 rad/sec* (c) 1 rad/sec?

rowd

(d) 2 rad/sec?
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The angular speed of a motor increases from 600 rpm to 1200 rpmt in 10 s. What is the

angular acceleration of the motor

> tongtond - ”
(a) 600 rad sec™ (c) 60 rad sec™

(b) 607 rad sec ™
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.If a cycle wheel of radius 4 m completes one revolution in two seconds. Then acceleration

of the cycle will be AR e

[Pb. PMT 2001]
(a) 72m/ s> (b) 2722m/s? \gz)/-‘-l?rzm/sz (d) 8z m/s?

. Two cars going round curve with speeds one at 90 km/h and other at 15 km/h. Each car
experiences same acceleration. The radii of curves are in the ratio of

(@4:1 (b)2:1 (©)16: 1 A 361

‘A wheel of radius 0.20m is accelerated from rest with an angular acceleration of 1 rad/s”.

After a rotation of 90° the radial acceleration of a particle on its rim will be

(a) 7 m/s> (b) 0.5 zm/s> (©) 2.0r m/s> \a{o.z xm/s*
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A ball of mass 0.1 kg is whirled in a horizontal circle of radius 1 m by means of a string

at an initial speed of 10 r.p.m. Keeping the radius constant, the tension in the string is
reduced to one quarter of its initial value. The new speed is

V%) 5 r.p.m. (b) 10 r.p.m. (c) 20 r.p.m. (d)14 r.p.m.
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. Three identical particles are joined together by a thread as shown in figure. All the three

particles are moving in-a-harizontal plane. If the velocity of the outermost particle is vo,
therthe ratio of tensions in the three s_écfibn'é'ef»t\lle string is
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A mass is supported on a frictionless horizontal surface. It is attached to a string and
rotates about a fixed centre at an angular velocity ,. If the length of the string and angular
velocity are doubled, the tension in the string which was initially T, is now

(a) To (b) To/2 (c) 4T, 47 8T,
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